Chloroethane
Response Ratio
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Concentration Ratio

R = -9.954e-002 A*A + 4.255e-001 A - 8.782e-003

Coef of Det (r”2) = 0.996195 Curve Fit: Quadratic

Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X062822W.M
Calibration Table Last Updated: Wed Jun 29 05:54:51 2022



Acrolein
Response Ratio

0.75-
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0 2 4 6
Concentration Ratio

Response = 7.589e-002 * Amt + 8.174e-003
Coef of Det (r®2) = 0.996891 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X062822W.M
Calibration Table Last Updated: Wed Jun 29 05:54:51 2022
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Methyl Iodide
Response Ratio

o® I I

0 0.5 1
Concentration Ratio

Response = 7.138e-001 * Amt - 2.674e-002
Coef of Det (r"2) = 0.999069 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA X\Method\82X062822W.M
Calibration Table Last Updated: Wed Jun 29 05:54:51 2022



